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A General Survey of English-
Speaking Countries

The Industrial
Revolution
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* 1760-1850

* The Industrial Revolution refers to the
mechanization of industry and the consequent

changes in social and economic organization in
Britain in the late 18th and early 19th
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* Britain was the first country to industrialize.

* By about 1800, the new inventions and work

techniques in Britain spread to Europe and
North America.
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* Background& Reasons
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* Starting:

mechanization of the textile industries

John Kay’s flying shuttle in 1733
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e Scottish inventor James
Watt modified and
improved the steam
engine, opening the
way for efficient
powering of trains,
ships, and factory
machinery, and making
it practical for industrial
use.
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* The invention of the steam engine was an
important step in the Industrial Revolution.

e Steam engines powered factories and drove
the trains that carried goods over long
distances.
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* Transformation of Transportation
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 1.Which country below firstly started the
industrial revolution?

A. America B. Britain C. France D. ltaly

B
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e 2.Which of the statements below is not the
reason for Britain to become the first country
to start industrialize?

* A. It has many rivers
e B. It was very stable at that time

* C. British engineers were all scientists during
the revolution

* D. It had a good foundation for economy.
e C
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* Who invented the steam engine ?
* A.John Kay B. James Hargreaves
* C. Richard Arkwright D. James Watt



